Day 08: 2-8 Proving

gle Relationships

Properties of Equality (POE)

Properties of Angle Congruence (POC) - Theorems

Reflexive Property of Equality:

mZA =mdZA

Congruent Angles are Reflexive:

ZA = LA

Symmetric Property of Equality:

FmsA =m4B, then msZB =mJA

Congruent Angles are Symmetric:

if ZA = ZB,then 2B = ZA

Transitive Property of Equality:

Congruent Angles are Transitive:

HmsA=msB, and msB=ms thenmZA =mZLC A = ZB,and 4B = Z( then /A = ZC
Angle Addition Postulate Example:
P
If Ris in the interior of ZPQS, @ R
then mZPQR + mZRQS = m£PQS. s
Definition of perpendicular lines: If two lines are perpendicular, then they intersect to form a angle.
Theorems: Memorize Them! Given information and Diagram Conclusion

1. Perpendicular lines form
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4. If2= Ls form a linear pair, then they are both
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2. Allright angles are
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5. Angles supplementary to the same angle or

congruent angles are C/D hgt rien ‘E

6. If2 Zsform alinear pair, then they are
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If: Z1is supplementary to £2 Thern:

Z3is supplementary to £2
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. Angles complementary to the same angle

or congruent angles are @D{WU@YL

8. If the non-common sides of two adjacent angles

form aright angle, then the angles are
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If: £4is complementary to /1
Z5 is complementary to £2
21 = L2

4 P° %
B /0

If 2 angles are vertical angles, then they are always
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If: Z3and £4 are vertical angles | Then:
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If: £5 and £6 are vertical angles




1-4: Use the diagram to decide whether the statement is true or faise.

1. fmZs = 42, then m26 = 48 L%Z%Qf@ *+180 %ﬁ
3. fmss =42, thenms7 = 42 s\,é}f‘&" X8 R TYH{;
3. mL5+mL7=m<L6 +mL8 2%} i M@ Faw €
4. M5 +mL8=mL6+mL7 2}@‘; [Bo° Tvue

5: Give a Reason for each step of the proof. Statements Reasons
5. Given: £1and £2 are complementary. 1. Z1and £z are complementary | 1. Given
=3, /2=24 2. ML+ mL2=90° 2. D@;‘g’ fomp: ‘%:5
Prove: /3 and Z4 are complementary. 3.012 43, L2224 3. Given |
« .'1 5N\ 4 > 4.mLi=mL3, mlz=ml4 4. T}?L (\“é,g
|3 ’) 5. m/3+ M2 =90° 5. bgﬁbhm {Lé‘ifﬁ’ﬁz
6.ML3+ML4 =90 6. (| §ﬁmﬁm Ls' i §‘
! 7. Z3 and £ 4 are complementary | 7. '2: &Snﬂpf S
6: Write a two-column proof. Statements Reasons
6. Given: £2= /3 1. e 1. iver
Prove: Z1= /24 2. / $7 ez Lj 2. \/@/’% Y M ’};
s L7 s _Tranditive OO
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6. LIz U 6._Jownumetric POC

7-9: Use the diagram to write an equation and solve for x.

7. Given: mZ5=4x-17andm4£L7=2x+9 V/@V‘Jﬁ'@f M i‘z/;
4yx—11= 2% 49
2X-(17

=13
8. Given: m£8=7x+2 an\d ms£7=3x+8 Lé%a}/ 9. Given: Zs5is aright angle and m.£6 =5x-10 5 t LG&,}?I?(}J“D
X+ 14 bxgg i O X (=40 gt
10 K= a0




